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(1). -5, -10 

 

(2). 100              95  

500             
95

100
 x 500 = Rs. 475  

 

(3).     
1

8
   +  

1

4
 

=  
1

8
   + 

1 x 2

4 x 2
  

=  
1

8
 + 

2

8
 

 

= 
3

8
  

 

(4). 2y + 48o =180o (Straight line)  

         y = 
180 – 48

8
  

         y = 
132

2
 = 66o 

 

(5). Tn = 3n - 1  

      = 3 x 21 – 1  

      = 63 – 1  

      = 62   

 

 

(6).   

 

 

 

 

 

  

 

 

(7). 
1

2
 of 1

1

2
 kg  

 

=
1

2
 x 

3

2
 = 

3

4
 kg  

 

 

 

 

 

 

 

(8). 2𝑚𝑛 

=2 x -1 x 
1

2
 = -1 

 

(9). (2𝑥 - 1) (5 - 𝑥) 

 

= 10𝑥 – 2𝑥2 – 5 + 𝑥  

= -2𝑥2 + 11𝑥 – 5 

 

(10). 25𝑎2 - 1  

= 52 𝑎2 - 12 

= (5𝑎 - 1) (5𝑎 + 1) 

 

(11). PQ = QR (given data) 

Add RS both Sides  

PQ + RS = QR + RS (Axioms)  

PQ + RS =     QR 

 

(12). 5𝑥 – 1 = 4 

5𝑥 – 1 + 1 = 4 + 1 

              
5𝑥

5
 = 

5

5
 

              𝑥 = 1 

 

(13).    1101two 

     111 two 

 10100 two 

 

(14).  

i. Profit  = 1050 – 900 

            = Rs. 150 

ii. Percentage 

            =  
150

900
 x 100 

            = 16.67% 

 

 

(15).    992 – 1  

= 992 – 12 

=(99 – 1) (99 + 1) 

= 98 x 100 

=9800 
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(16).    180o  - (60o + 40) 

 =180o  
       𝑥  = 80o (Alternate angles) 

 

 

(17). 
1

4
  of (2 

1

3
 ÷ 1 

1

7
 ) 

= 
1

4
 x ( 

8

3
 ÷ 

8

7
 ) 

= 
1

4
 x ( 

8

3
 ÷ 

7

8
 ) 

= 
1

4
  x  

7

3
 

 

=
7

12
 

 

 

 

(18). 
1

5
 = Rs. 750 

1

5
 = Rs. 750 x 5 

      Rs. 3750 

 

 

 

(19).   𝐴𝐵𝐸 = 𝐷𝐵𝐶 (given Data) 

Remove 𝐷𝐵𝐶 both sides  

 

𝐴𝐵𝐸 = 𝐷𝐵𝐸  - 𝐷𝐵𝐶 = 𝐷𝐵𝐸  

                                                       (Axioms) 

       𝐴𝐵𝐷       =         𝐸𝐵𝐶  

 

 

 

(20). 𝑑 = 6 – 8 = -2  

       4 – 6 = -2 

Tn = 2n + 10 
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(Total = 40 Marks)  
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Part II

 

(1).  

i. 100, 150, 200, 250  

ii. T1 = 100 

d = 150 – 100 = 50  

iii. Tn = 50n + 50  

 

iv. Tn = 50n +50 

 

Tn = 50 x 12 + 50 

    = 600 + 50  

    = 650 

 

(2).  

(a) 

 

 

 

 

 

(ii) Area = length x breadth  

          = (2𝑥 + 1) x 𝑥 

          = 𝑥 x (2𝑥 + 1) 

          = 2𝑥2 + 𝑥1 

(b) 

     (i)    𝑥2 - 11 𝑥 + 30 

         = 𝑥2 - 6𝑥 - 5𝑥 +30 

         = 𝑥(𝑥 − 6) – 5(𝑥 - 6) 

         = (𝑥 − 6) (𝑥 − 5) 

 

(3).  

i. 𝑎 = 180 – (50 + 60) (Inter angles of the triangle) 

   = 180 – 1100  

   = 70o 

𝑏'' = 𝑎 ''= 700 – (Vertically opposite angles) 

c'' = 50o – (Alternate angles) 

do = 180o -(700 +50o)  

    = 180o – 120o = 60o (Interior angles of ∆) 

  

ii. 2𝑎 + 2𝑏 = 1800 (Allied angles) 

2(𝑎+b)  = 1800 

    𝑎+b    =1800    = 90o 

                               2 

iii. 4𝑥 = 1800 (straight line)  

  𝑥  = 
180

4
  = 45o = 45o        

(ii)    25𝑥2 – 9 

      =25𝑥2 - 32 

         = (5𝑥 − 3) (5𝑥 + 3)  

 

2𝑥 + 1 

𝑥  

(10 Marks for each)  

(02 Marks)  
(02 Marks)  

(03 Marks)  

(03 Marks)  
(Total - 10 Marks)  

(02 Marks)  

(03 Marks)  

(03 Marks)  (02 Marks)  

^ 

(01 Marks)  

(01 Marks)  
(01 Marks)  

(04 Marks)  

(02 Marks)  

(Total - 10 Marks)  
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(4).  

i. Both food & rental fee = 

                                 =
1

2
 + 

1

5
 = 

1 x 5

2  x 5 
 + 

1 x 2

 5 x 2
 

        =
1

10
  + 

2

10
 = 

7

10
 

ii. For Children's  Education 

                                 = 
1

10
 of 

1

3
 = 

3

10
 x 

1

3
 = 

1

10
 

 

iii. Deposit amount =
10

10
  +  ( 

7

10
 + 

1

10
 ) 

 

      =
10

10
 - 

8

10
 = 

2  ÷ 2

10 ÷2
 = 

1

3
 

 

      =
1

5
 

 

iv. 
1

5
 = Rs 8000 

 
5

5
 = 8000 x 5 = Rs. 40000 

 

Whole Salary = Rs. 40000  

 

 
(5).              Mark Price  

i. 100 - 120      

Rs. 40000        
120

100
 x 40000    

                        =Rs 48000 

 

iii. Profit  = Rs. 44200 

               Rs. 40000 - 

               Rs.   4200 

 

Profit Percentage = 
   4200

40000
 x 100 

                                = 
 42

4
 = 10.5% 

 

(b) Commission Value of the  

 

                  3                     100 

         75000                       
 100

3
 x 7500 = 

750000

3
 

                                                               =Rs. 250000 

 

 

 

 

 

(02 Marks)  

(03 Marks)  

(02 Marks)  

(03 Marks)  (Total - 10 Marks)  

(02 Marks)  

(02 Marks)  

                        Discount 
ii. 100          90  

    48000       
 90

100
 x 48000 

                   Rs. 44200  (02 Marks)  

(04 Marks)  

(Total - 10 Marks)  
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(6).  

(i)                                                                                           (ii)   

 

 

 

 

 

 

 

 

 

 

(iii)      11011two      (iv)  11011 two 

                111two    +    101two    - 

         100010ten                                                                              10110 ten 
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1 1 0 1two 
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= 1 x 1 = 1 
= 2 x 0 = 0 
= 4 x 1 = 4 
= 8 x 1 = 8  + 

 13 ten 

2  35 

 2  17        1 

 2  8         1 

 2  4         0 

 2  2        0 

    1        0 

 

(03 Marks)  (03 Marks)  

100011 two 

(02 Marks)  (02 Marks)  

(Total - 10 Marks)  
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